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QUESTION 1

How must node ports on Dell EMC ToR switches be configured when the Spanning Tree Protocol is enabled in an
environment? 

A. In Port-Channel mode 

B. In Forwarding status 

C. As edge ports 

D. As access ports 

Correct Answer: C 

Reference: https://www.dell.com/community/Networking-General/STP-Troubleshooting-Best-Practices/td-p/3979839 

 

QUESTION 2

Which vSAN feature requires an All-Flash cluster? 

A. Deduplication and compression 

B. Data-at-Rest Encryption 

C. Data-in-Transit Encryption 

D. Storage Policy Based Management 

Correct Answer: A 

 

QUESTION 3

What is the minimum number of VxRail nodes required for a vSAN storage policy with RAID-6 (Erasure Coding)? 

A. 4 

B. 5 

C. 6 

D. 7 

Correct Answer: C 

Reference: https://docs.vmware.com/en/VMware-Cloud-on-AWS/services/com.vmware.vsphere.vmc-aws-manage-data-
center-vms.doc/GUID-EDBB551B-51B0-421B-9C44-6ECB66ED660B.html 

 

QUESTION 4
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An implementation engineer is expanding an existing VxRail S Series cluster with an additional node. The version of the
node is not at the current cluster level but is compatible. What procedure would result in the quickest node addition? 

A. RASR Factory Image Upgrade 

B. Factory Reset 

C. VxRail Node Imaging Management 

D. Compute node expansion 

Correct Answer: D 

Reference: https://www.dell.com/community/VxRail/DELL-VXRail-2-node-cluster-and-expansion/td-p/7904218 

 

QUESTION 5

A VxRail 7.0.100 environment is managed by the internal vCenter Server. The customer asks the implementation
engineer to deploy a new VxRail cluster using the existing vCenter Server. 

What should the response of the engineer? 

A. Not supported for internal vCenter Server 

B. Not supported on VxRail software 7.0.100 

C. Supported by neither the internal vCenter Server nor external vCenter Server 

D. Only supported on VxRail software 4.7.xxx 

Correct Answer: D 
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